
Electric Vehicle BODY 

  

Service Parts Manual 

 

EZGO TEXTRON Page C-2 

   



BODY Electric Vehicle 

THE USE OF NON UL PARTS WILL VOID ANY UL LISTING. 
When ordering parts, please specify the model and serial number of the product. 
* Indicates a component that is not available as an individual part. 
G** Indicates consult Customer Service Department for additional information. 

ITEM PART NO. 1 2 3 4 5 DESCRIPTION QTY. 

31 70047-G01 UPPER FLOORPAN  1 

32 14601-G11 RIVET, 5/32" X 9/16" LG.  . 10 

33 16816-G2 RATCHET FASTENER   1 

34 

35 27166-G02 FRONT SHIELD   1 

36 71015-G01 FRONT SHIELD BRACE  . 2 

37 16816-G2 FASTENER  . 2 

38 00114-G6 SCREW, 1/4 - 14 X 3/4" LG.  . 4 

39 16469-G7 WASHER, 1/4"  . 2 

40 

41 70048-G01 FLOORMAT  . 1 

42 70451-G01 LOWER FLOORPAN  . 1 

43 14601-G13 RIVET, 5/32" X 9/16" LG  . 10 

44 70452-G01 SWITCH ACCESS COVER  . 1 

45 14601-G11 RIVET, 3/16" X 9/16" LG.  . 6 

46 

47 71501-G01 ROCKER PANEL (PASSENGER SIDE)  . 1 

48 71502-G01 ROCKER. PANEL (DRIVER SIDE)  . 1 

49 71507-G01 SILL PLATE (PASSENGER SIDE)  . 1 

50 71507-G02 SILL PLATE (DRIVER SIDE)  . 1 

51 16705-G1 SCREW, 1/4 - 20 X 1" LG. (STAINLESS STEEL)  . 4 

52 23726-G4 SPACER  . 4 

53 00891-G2 LOCK NUT, 1/4 - 20  . 4 

54 23726-G6 SPACER  . 1 

55 15058-G4 RIVET  . 2 

56 23726-G7 SPACER  . 1 

57 

58 

59 70318-G02 SEAT FRAME  . 1 

60 70046-G01 BATTERY RACK  . 1 

Page C-7 Service Parts Manual 

  

EZED TEXTRON 

   


